Notes on Number Theory and Discrete Mathematics Print ISSN 1310-5132, Online ISSN 2367-8275

Vol. 27, 2021, No. 4, 95-103

DOI: 10.7546/nntdm.2021.27.4.95-103

# Fibonacci-Zeta infinite series associated with the polygamma functions

# Kunle Adegoke<sup>1</sup> and Sourangshu Ghosh<sup>2</sup>

<sup>1</sup> Department of Physics and Engineering Physics Obafemi Awolowo University, Ile-Ife, 220005 Nigeria e-mail: adeqoke00@gmail.com

<sup>2</sup> Department of Civil Engineering Indian Institute of Technology, Kharagpur, India e-mail: sourangshug123@gmail.com

**Received:** 4 May 2021 **Revised:** 23 November 2021 **Accepted:** 24 November 2021

**Abstract:** We derive new infinite series involving Fibonacci numbers and Riemann zeta numbers. The calculations are facilitated by evaluating linear combinations of polygamma functions of the same order at certain arguments.

**Keywords:** Fibonacci numbers and Lucas numbers, Summation identity, Series, Digamma function, Polygamma function, Zeta function.

**2020 Mathematics Subject Classification:** Primary 11B39; Secondary 33B15, 11B37.

#### 1 Introduction

The Fibonacci numbers,  $F_n$ , and the Lucas numbers,  $L_n$ , are defined, for all integers n by the Binet formulas:

 $F_n = \frac{\alpha^n - \beta^n}{\alpha - \beta}, \quad L_n = \alpha^n + \beta^n, \tag{1.1}$ 

where  $\alpha$  and  $\beta$  are the zeros of the characteristic polynomial,  $x^2-x-1$ , of the Fibonacci sequence. Thus  $\alpha+\beta=1$  and  $\alpha\beta=-1$ ; so that  $\alpha=(1+\sqrt{5})/2$  (the golden ratio) and  $\beta=-1/\alpha=(1-\sqrt{5})/2$ . Koshy [8] and Vajda [11] have written excellent books dealing with Fibonacci and Lucas numbers.

Our purpose in writing this paper is to employ the properties of the polygamma functions to derive infinite series identities involving Fibonacci numbers, Lucas numbers and the Riemann zeta numbers. We will obtain sums such as

$$\sum_{j=1}^{\infty} \frac{(j+1)(j+2)}{3^j} \zeta(j+3) F_{2j} = \frac{2\pi^3}{\sqrt{5}} \tan\left(\frac{\pi\sqrt{5}}{6}\right) \sec^2\left(\frac{\pi\sqrt{5}}{6}\right) ,$$

and

$$\sum_{j=0}^{\infty} \frac{(j+1)}{7^j} \zeta(j+2) L_{4j} = \pi^2 \sec^2 \left( \frac{3\pi\sqrt{5}}{14} \right) ,$$

and, in fact, more general series. Here  $\zeta(n)$  is the Riemann zeta function.

The digamma function,  $\psi(z)$ , is the logarithmic derivative of the Gamma function:

$$\psi(z) = \frac{d}{dz} \log \Gamma(z) = \frac{\Gamma'(z)}{\Gamma(z)},$$

where the Gamma function is defined for  $\Re(z) > 0$  by

$$\Gamma(z) = \int_0^\infty e^{-t} t^{z-1} dt = \int_0^\infty (\log(1/t))^{z-1} dt,$$

and is extended to the rest of the complex plane, excluding the non-positive integers, by analytic continuation. The Gamma function has a simple pole at each of the points  $z = \cdots, -3, -2, -1, 0$ . The Gamma function extends the classical factorial function to the complex plane:  $\Gamma(z) = (z-1)!$ . The Gamma function has found application in various areas of science, for example in medicine [9].

The n-th polygamma function  $\psi^{(n)}(z)$  is the n-th derivative of the digamma function:

$$\psi^{(n)}(z) = \frac{d^{n+1}}{dz^{n+1}} \log \Gamma(z) = \frac{d^n}{dz^n} \psi^{(n)}(z), \quad \psi^{(0)}(z) = \psi(z).$$

The polygamma functions satisfy the recurrence relation,

$$\psi^{(m)}(z+1) = \psi^{(m)}(z) + (-1)^m \frac{m!}{z^{m+1}}, \qquad (1.2)$$

and the reflection relation,

$$(-1)^m \psi^{(m)}(1-z) - \psi^{(m)}(z) = \pi \frac{d^m}{dz^m} \cot(\pi z).$$
 (1.3)

The Taylor series for the polygamma functions is

$$\sum_{j=0}^{\infty} (-1)^{m+j+1} \frac{(m+j)!}{j!} \zeta(m+j+1) z^j = \psi^{(m)}(z+1), \quad m \ge 1,$$
 (1.4)

$$-\gamma + \sum_{j=1}^{\infty} (-1)^{j+1} \zeta(j+1) z^j = \psi(z+1), \qquad (1.5)$$

where  $\gamma$  is the Euler–Mascheroni constant and  $\zeta(n), n \in \mathbb{C}$ , is the Riemann zeta function, defined by

$$\zeta(n) = \sum_{j=1}^{\infty} \frac{1}{j^n}, \quad \Re(n) > 1,$$

and analytically continued to all  $n \in \mathbb{C}$  with  $\Re(n) > 0$ ,  $n \neq 1$  through

$$\zeta(n) = \frac{1}{1 - 2^{1-n}} \sum_{j=1}^{\infty} \frac{(-1)^{j+1}}{j^n}.$$

Further information on the polygamma functions can be found in the books by Erdélyi et al. [3, §1.16] and Srivastava and Choi [10, p. 33]. The book by Edwards [2] is a good treatise on the Riemann zeta function.

Infinite series involving Fibonacci numbers and Riemann zeta numbers were also derived by Frontczak [4–6], Frontczak and Goy [7] and Adegoke [1].

### 2 Preliminary results

Here we derive more functional equations for the polygamma functions. We also evaluate required linear combinations of the polygamma function at appropriate arguments.

#### 2.1 Functional equations

Writing -z for z in the recurrence relation (1.2) and making use of the reflection relation (1.3), we obtain the duplication formula

$$\psi^{(m)}(-z) - (-1)^m \psi^{(m)}(z) = (-1)^m \pi \frac{d^m}{dz^m} \cot(\pi z) + \frac{m!}{z^{m+1}}, \tag{2.1}$$

and consequently,

$$\psi^{(m)}(-x) - \psi^{(m)}(-y) = \psi^{(m)}(x) - \psi^{(m)}(y) + \frac{m!}{x^{m+1}} - \frac{m!}{y^{m+1}} + \pi \frac{d^m}{dz^m} \cot(\pi z) \Big|_{z=x} - \pi \frac{d^m}{dz^m} \cot(\pi z) \Big|_{z=y}, \quad m \text{ even },$$
(2.2)

$$\psi^{(m)}(-x) + \psi^{(m)}(-y) = -(\psi^{(m)}(x) + \psi^{(m)}(y)) + \frac{m!}{x^{m+1}} + \frac{m!}{y^{m+1}} - \pi \frac{d^m}{dz^m} \cot(\pi z) \Big|_{z=x} - \pi \frac{d^m}{dz^m} \cot(\pi z) \Big|_{z=y}, \quad m \text{ odd }.$$
(2.3)

In particular, if x + y = 1, then,

$$\psi^{(m)}(-x) - \psi^{(m)}(-y) = -\pi \left. \frac{d^m}{dz^m} \cot(\pi z) \right|_{z=y} + \frac{m!}{x^{m+1}} - \frac{m!}{y^{m+1}}, \quad m \text{ even },$$
 (2.4)

$$\psi^{(m)}(-x) + \psi^{(m)}(-y) = -\pi \left. \frac{d^m}{dz^m} \cot(\pi z) \right|_{z=u} + \frac{m!}{x^{m+1}} + \frac{m!}{y^{m+1}}, \quad m \text{ odd }.$$
 (2.5)

Writing 1/2 - z for z in (1.3) gives

$$(-1)^m \psi^{(m)} \left( \frac{1}{2} + z \right) - \psi^{(m)} \left( \frac{1}{2} - z \right) = \pi \left. \frac{d^m}{dx^m} \cot(\pi x) \right|_{x=1/2-z}. \tag{2.6}$$

Eliminating  $\psi^{(m)}(z)$  between (1.2) and (1.3) gives

$$\psi^{(m)}(1+z) - (-1)^m \psi^{(m)}(1-z) = -\pi \frac{d^m}{dz^m} \cot(\pi z) + \frac{(-1)^m m!}{z^{m+1}}.$$
 (2.7)

If x - y = 1, then the recurrence relation gives

$$\psi^{(m)}(x) - \psi^{(m)}(y) = \frac{(-1)^m m!}{y^{m+1}}, \qquad (2.8)$$

while if x + y = 1, the reflection relation gives

$$\psi^{(m)}(x) - (-1)^m \psi^{(m)}(y) = -\pi \left. \frac{d^m}{dz^m} \cot(\pi z) \right|_{z=x}. \tag{2.9}$$

The recurrence relation has the following consequences:

$$\psi^{(m)}(x+1) - \psi^{(m)}(y+1) = \psi^{(m)}(x) - \psi^{(m)}(y) - (-1)^m m! \frac{x^{m+1} - y^{m+1}}{(xy)^{m+1}}, \qquad (2.10)$$

$$\psi^{(m)}(x+1) + \psi^{(m)}(y+1) = \psi^{(m)}(x) + \psi^{(m)}(y) + (-1)^m m! \frac{x^{m+1} + y^{m+1}}{(xy)^{m+1}}.$$
 (2.11)

For any x and y such that  $1-x\notin\mathbb{Z}^-$ ,  $1-y\notin\mathbb{Z}^-$  and  $x\neq 1, y\neq 1$ , relation (2.7) implies

$$\psi^{(m)}(1+x) - \psi^{(m)}(1+y) = (-1)^m \left(\psi^{(m)}(1-x) - \psi^{(m)}(1-y)\right) - \pi \frac{d^m}{dx^m} \cot(\pi x) + \pi \frac{d^m}{dy^m} \cot(\pi y) + \frac{(-1)^m m!}{x^{m+1}} - \frac{(-1)^m m!}{y^{m+1}},$$
(2.12)

$$\psi^{(m)}(1+x) + \psi^{(m)}(1+y) = (-1)^m \left(\psi^{(m)}(1-x) + \psi^{(m)}(1-y)\right) - \pi \frac{d^m}{dx^m} \cot(\pi x) - \pi \frac{d^m}{dy^m} \cot(\pi y) + \frac{(-1)^m m!}{x^{m+1}} + \frac{(-1)^m m!}{y^{m+1}}.$$
(2.13)

From the functional equation (2.12), it follows that if m is even and x + y = 1, then,

$$\psi^{(m)}(1+x) - \psi^{(m)}(1+y) = \pi \left. \frac{d^m}{dz^m} \cot(\pi z) \right|_{z=u} + \frac{m!}{x^{m+1}} - \frac{m!}{y^{m+1}}. \tag{2.14}$$

From the functional equation (2.13), it follows that if m is odd and x + y = 1, then,

$$\psi^{(m)}(1+x) + \psi^{(m)}(1+y) = \pi \left. \frac{d^m}{dz^m} \cot(\pi z) \right|_{z=y} - \frac{m!}{x^{m+1}} - \frac{m!}{y^{m+1}}. \tag{2.15}$$

If m is an even number and x + y = 2, equation (2.12) gives

$$\psi^{(m)}(1+x) - \psi^{(m)}(1+y) = -\pi \frac{d^m}{dz^m} \cot(\pi z) \Big|_{z=x} + \frac{m!}{(1-y)^{m+1}} + \frac{m!}{x^{m+1}} - \frac{m!}{y^{m+1}},$$
(2.16)

while if m is an odd number and x + y = 2, equation (2.13) gives

$$\psi^{(m)}(1+x) + \psi^{(m)}(1+y) = -\pi \frac{d^m}{dz^m} \cot(\pi z) \Big|_{z=x} - \frac{m!}{(1-y)^{m+1}} - \frac{m!}{x^{m+1}} - \frac{m!}{y^{m+1}}.$$
(2.17)

Note that we used

$$\pi \left. \frac{d^m}{dz^m} \cot(\pi z) \right|_{z=y} + \pi \left. \frac{d^m}{dz^m} \cot(\pi z) \right|_{z=1-y} = 0, \quad m \text{ even },$$

and

$$-\pi \left. \frac{d^m}{dz^m} \cot(\pi z) \right|_{z=y} + \pi \left. \frac{d^m}{dz^m} \cot(\pi z) \right|_{z=1-y} = 0, \quad m \text{ odd}$$

From (2.6) we have

$$(-1)^{m} \left( \psi^{(m)} \left( \frac{1}{2} + x \right) - \psi^{(m)} \left( \frac{1}{2} + y \right) \right)$$

$$= \psi^{(m)} \left( \frac{1}{2} - x \right) - \psi^{(m)} \left( \frac{1}{2} - y \right)$$

$$+ \pi \frac{d^{m}}{dz^{m}} \cot(\pi z) \Big|_{z=1/2-x} - \pi \frac{d^{m}}{dz^{m}} \cot(\pi z) \Big|_{z=1/2-y},$$
(2.18)

$$(-1)^{m} \left( \psi^{(m)} \left( \frac{1}{2} + x \right) + \psi^{(m)} \left( \frac{1}{2} + y \right) \right)$$

$$= -\psi^{(m)} \left( \frac{1}{2} - x \right) - \psi^{(m)} \left( \frac{1}{2} - y \right)$$

$$+ \pi \left. \frac{d^{m}}{dz^{m}} \cot(\pi z) \right|_{z=1/2-x} + \pi \left. \frac{d^{m}}{dz^{m}} \cot(\pi z) \right|_{z=1/2-y}.$$
(2.19)

Thus, if m is even and x + y = 1, then from (2.18) and the duplication formula, we have

$$\psi^{(m)}\left(\frac{1}{2} + x\right) - \psi^{(m)}\left(\frac{1}{2} + y\right) = -\pi \frac{d^m}{dz^m} \cot(\pi z) \Big|_{z=1/2-y} + \frac{m!}{(x-1/2)^{m+1}},$$
(2.20)

and if m is odd and x + y = 1, then from (2.19) and the duplication formula, we have

$$\psi^{(m)}\left(\frac{1}{2} + x\right) + \psi^{(m)}\left(\frac{1}{2} + y\right) = -\pi \left. \frac{d^m}{dz^m} \cot(\pi z) \right|_{z=1/2-y} - \frac{m!}{(x-1/2)^{m+1}}.$$
(2.21)

#### 2.2 Evaluation at various arguments

Lemma 1. We have

$$\psi^{(m)}(\alpha) - \psi^{(m)}(\beta) = -\pi \left. \frac{d^m}{dz^m} \cot(\pi z) \right|_{z=\alpha}, \quad m \text{ even}, \qquad (2.22)$$

$$\psi^{(m)}(\alpha) + \psi^{(m)}(\beta) = -\pi \left. \frac{d^m}{dz^m} \cot(\pi z) \right|_{z=\alpha}, \quad m \text{ odd},$$
 (2.23)

$$\psi^{(m)}(\alpha^2) - \psi^{(m)}(\beta^2) = \pi \left. \frac{d^m}{dz^m} \cot(\pi z) \right|_{z=\beta} + m! F_{m+1} \sqrt{5}, \quad m \text{ even},$$
 (2.24)

$$\psi^{(m)}(\alpha^2) + \psi^{(m)}(\beta^2) = -\pi \left. \frac{d^m}{dz^m} \cot(\pi z) \right|_{z=\beta} - m! L_{m+1}, \quad m \text{ odd},$$
 (2.25)

$$\psi^{(m)}(\alpha^{3}) - \psi^{(m)}(\beta^{3}) = \pi \left. \frac{d^{m}}{dz^{m}} \cot(\pi z) \right|_{z=2\beta} + \frac{m!}{(\sqrt{5})^{m+1}} + \frac{m!}{2^{m+1}} F_{m+1} \sqrt{5}, \quad m \text{ even },$$
(2.26)

$$\psi^{(m)}(\alpha^3) + \psi^{(m)}(\beta^3) = -\pi \left. \frac{d^m}{dz^m} \cot(\pi z) \right|_{z=2\beta} - \frac{m!}{(\sqrt{5})^{m+1}} - \frac{m!}{2^{m+1}} L_{m+1}, \quad m \text{ odd }, \quad (2.27)$$

$$\psi^{(m)}(\alpha^3/2) - \psi^{(m)}(\beta^3/2) = -\pi \left. \frac{d^m}{dz^m} \cot(\pi z) \right|_{z=\sqrt{5}/2} + \frac{m! 2^{m+1}}{(\sqrt{5})^{m+1}}, \quad m \text{ even },$$
 (2.28)

$$\psi^{(m)}(\alpha^3/2) + \psi^{(m)}(\beta^3/2) = -\pi \left. \frac{d^m}{dz^m} \cot(\pi z) \right|_{z=\sqrt{5}/2} - \frac{m! 2^{m+1}}{(\sqrt{5})^{m+1}}, \quad m \text{ odd },$$
 (2.29)

$$\psi^{(m)}(\alpha^r/L_r) - \psi^{(m)}(\beta^r/L_r) = -\pi \left. \frac{d^m}{dz^m} \cot(\pi z) \right|_{z=\alpha^r/L_r}, \quad m \text{ even },$$
 (2.30)

$$\psi^{(m)}(\alpha^r/L_r) + \psi^{(m)}(\beta^r/L_r) = -\pi \left. \frac{d^m}{dz^m} \cot(\pi z) \right|_{z=\alpha^r/L_r}, \quad m \text{ odd},$$
 (2.31)

$$\psi^{(m)}\left(\frac{\alpha^r}{F_r\sqrt{5}}\right) - \psi^{(m)}\left(\frac{\beta^r}{F_r\sqrt{5}}\right) = (-1)^{rm+r+m} m! F_r^{m+1} (\alpha^r \sqrt{5})^{m+1}, \qquad (2.32)$$

$$\psi^{(m)}(1+2\alpha^{r}/L_{r}) - \psi^{(m)}(1+2\beta^{r}/L_{r})$$

$$= -\pi \frac{d^{m}}{dz^{m}} \cot(\pi z) \Big|_{z=2\alpha^{r}/L_{r}} + \frac{m!L_{r}^{m+1}}{(F_{r}\sqrt{5})^{m+1}} - \frac{(-1)^{r}m!L_{r}^{m+1}F_{r(m+1)}\sqrt{5}}{2^{m+1}}, \quad m \text{ even },$$
(2.33)

$$\psi^{(m)}(1+2\alpha^{r}/L_{r}) + \psi^{(m)}(1+2\beta^{r}/L_{r})$$

$$= -\pi \frac{d^{m}}{dz^{m}} \cot(\pi z) \Big|_{z=2\alpha^{r}/L_{r}} - \frac{m!L_{r}^{m+1}}{(F_{r}\sqrt{5})^{m+1}} - \frac{m!L_{r}^{m+1}L_{r(m+1)}}{2^{m+1}}, \quad m \text{ odd },$$
(2.34)

$$\psi^{(m)}(-\alpha^{r}/L_{r}) - \psi^{(m)}(-\beta^{r}/L_{r})$$

$$= -\pi \frac{d^{m}}{dz^{m}} \cot(\pi z) \Big|_{z=\beta^{r}/L_{r}} - m! L_{r}^{m+1}(-1)^{r} F_{r(m+1)} \sqrt{5}, \quad m \text{ even },$$
(2.35)

$$\psi^{(m)}(-\alpha^{r}/L_{r}) + \psi^{(m)}(-\beta^{r}/L_{r})$$

$$= -\pi \frac{d^{m}}{dz^{m}} \cot(\pi z) \Big|_{z=\beta^{r}/L_{r}} + m! L_{r}^{m+1} L_{r(m+1)}, \quad m \text{ odd }.$$
(2.36)

*Proof.* To prove (2.22) and (2.23), set  $x = \alpha$ ,  $y = \beta$  in (2.9). To prove (2.24) and (2.25), set  $x = \alpha$ ,  $y = \beta$  in (2.14) and (2.15). Setting  $x = 2\alpha$ ,  $y = 2\beta$  in (2.16) and (2.17) gives (2.26) and (2.27). To prove (2.28) and (2.29) set  $x = \alpha$ ,  $y = \beta$  in (2.20) and (2.21). Use of  $x = \alpha^r/L_r$  and  $y = \beta^r/L_r$  in (2.9) gives (2.30) and (2.31). Identity (2.32) is obtained by setting  $x = \alpha^r/(F_r\sqrt{5})$  and  $y = \beta^r/(F_r\sqrt{5})$  in (2.8). Identities (2.33) and (2.34) follow from (2.16) and (2.17), upon setting  $x = 2\alpha^r/L_r$  and  $y = 2\beta^r/L_r$ . Identities (2.35) and (2.36) are obtained from (2.4) and (2.5), with  $x = \alpha^r/L_r$  and  $y = \beta^r/L_r$ .

#### 3 Main results

**Theorem.** If r is an integer, then,

$$\sum_{j=1}^{\infty} (-1)^{j+1} \frac{(m+j)!}{j!} \zeta(m+j+1) F_{rj} z^{j}$$

$$= \frac{1}{\sqrt{5}} \left\{ \psi^{(m)} (1 + \alpha^{r} z) - \psi^{(m)} (1 + \beta^{r} z) \right\}, \quad m \text{ even, } m \ge 0,$$
(F)

$$\sum_{j=0}^{\infty} (-1)^{j} \frac{(m+j)!}{j!} \zeta(m+j+1) L_{rj} z^{j}$$

$$= \psi^{(m)} (1+\alpha^{r} z) + \psi^{(m)} (1+\beta^{r} z), \quad m \text{ odd, } m \ge 1.$$
(L)

*Proof.* Writing  $\alpha^r z$  for z in the Taylor series (1.4), we obtain

$$\sum_{j=0}^{\infty} (-1)^{m+j+1} \frac{(m+j)!}{j!} \zeta(m+j+1) \alpha^{rj} z^j = \psi^{(m)} (\alpha^r z + 1).$$
 (3.1)

Similarly,

$$\sum_{i=0}^{\infty} (-1)^{m+j+1} \frac{(m+j)!}{j!} \zeta(m+j+1) \beta^{rj} z^j = \psi^{(m)} (\beta^r z + 1).$$
 (3.2)

If m is even, then subtraction of (3.2) from (3.1) gives (F) while if m is odd, their addition produces (L), on account of the Binet formulas.

Note that, in view of identities (2.10) and (2.11), the right hand side of (F) and (L) can be expressed as:

$$\frac{1}{\sqrt{5}} \left\{ \psi^{(m)}(\alpha^r z + 1) - \psi^{(m)}(\beta^r z + 1) \right\} 
= \frac{1}{\sqrt{5}} \left\{ \psi^{(m)}(\alpha^r z) - \psi^{(m)}(\beta^r z) \right\} - \frac{(-1)^r m!}{z^{m+1}} F_{r(m+1)}, \quad m \text{ even },$$
(3.3)

$$\psi^{(m)}(\alpha^r z + 1) + \psi^{(m)}(\beta^r z + 1)$$

$$= \psi^{(m)}(\alpha^r z) + \psi^{(m)}(\beta^r z) - \frac{m!}{z^{m+1}} L_{r(m+1)}, \quad m \text{ odd }.$$
(3.4)

**Corollary 1.** *If* r *is an integer, then,* 

$$\sum_{j=1}^{\infty} (-1)^{j+1} \frac{(m+j)!}{j! L_r^j} \zeta(m+j+1) F_{rj}$$

$$= \frac{\pi}{\sqrt{5}} \frac{d^m}{dz^m} \cot(\pi z) \Big|_{z=\beta^r/L_r} - (-1)^r m! L_r^{m+1} F_{r(m+1)}, \quad m \text{ even },$$
(3.5)

$$\sum_{j=0}^{\infty} (-1)^{j} \frac{(m+j)!}{j! L_{r}^{j}} \zeta(m+j+1) L_{rj}$$

$$= -\pi \left. \frac{d^{m}}{dz^{m}} \cot(\pi z) \right|_{z=\beta^{r}/L_{r}} - m! L_{r}^{m+1} L_{r(m+1)}, \quad m \text{ odd }.$$
(3.6)

*Proof.* Set  $z = 1/L_r$  in (F) and (L), noting (3.3) and (3.4) and using (2.30) and (2.31).

Example 1. We have

$$\sum_{j=1}^{\infty} (-1)^{j+1} \frac{(j+1)(j+2)}{3^j} \zeta(j+3) F_{2j} = \frac{2\pi^3}{\sqrt{5}} \tan\left(\frac{\pi\sqrt{5}}{6}\right) \sec^2\left(\frac{\pi\sqrt{5}}{6}\right) - 432.$$
 (3.7)

*Proof.* Set 
$$m = 2$$
,  $r = 2$  in (3.5).

**Corollary 2.** If r is an integer with |r| > 1, then,

$$\sum_{j=1}^{\infty} (-1)^{j+1} \frac{(m+j)!}{j! L_r^j} 2^j \zeta(m+j+1) F_{rj}$$

$$= -\frac{1}{\sqrt{5}} \left\{ \pi \frac{d^m}{dz^m} \cot(\pi z) \Big|_{z=2\alpha^r/L_r} - \frac{m! L_r^{m+1}}{(F_r \sqrt{5})^{m+1}} \right\}$$

$$- (-1)^r \frac{m! L_r^{m+1} F_{r(m+1)}}{2^{m+1}}, \quad m \text{ even },$$
(3.8)

$$\sum_{j=0}^{\infty} (-1)^{j} \frac{(m+j)!}{j! L_{r}^{j}} 2^{j} \zeta(m+j+1) L_{rj}$$

$$= -\pi \frac{d^{m}}{dz^{m}} \cot(\pi z) \bigg|_{z=2\alpha^{r}/L_{r}} - \frac{m! L_{r}^{m+1}}{(F_{r}\sqrt{5})^{m+1}} - \frac{m! L_{r}^{m+1} L_{r(m+1)}}{2^{m+1}}, \quad m \text{ odd }.$$
(3.9)

*Proof.* Set  $z = 2/L_r$  in (F) and (L) and use (2.33) and (2.34).

**Corollary 3.** If r is an integer with |r| > 1, then,

$$\sum_{j=1}^{\infty} \frac{(m+j)!}{j! L_r^j} \zeta(m+j+1) F_{rj} = \frac{\pi}{\sqrt{5}} \left. \frac{d^m}{dz^m} \cot(\pi z) \right|_{z=\beta^r/L_r}, \quad m \text{ even },$$
 (3.10)

$$\sum_{j=0}^{\infty} \frac{(m+j)!}{j! L_r^j} \zeta(m+j+1) L_{rj} = -\pi \left. \frac{d^m}{dz^m} \cot(\pi z) \right|_{z=\beta^r/L_r}, \quad m \text{ odd }.$$
 (3.11)

*Proof.* Set  $z = -1/L_r$  in (F) and (L) and use (2.35) and (2.36).

#### Example 2. We have

$$\sum_{j=1}^{\infty} \frac{(j+1)(j+2)}{3^j} \zeta(j+3) F_{2j} = \frac{2\pi^3}{\sqrt{5}} \tan\left(\frac{\pi\sqrt{5}}{6}\right) \sec^2\left(\frac{\pi\sqrt{5}}{6}\right) , \qquad (3.12)$$

$$\sum_{j=0}^{\infty} \frac{(j+1)}{7^j} \zeta(j+2) L_{4j} = \pi^2 \sec^2 \left(\frac{3\pi\sqrt{5}}{14}\right). \tag{3.13}$$

*Proof.* To prove (3.12), set m=2, r=2 in (3.10). To prove (3.13), set m=1, r=4 in (3.11).

## Acknowledgements

The authors wish to thank the anonymous referee for helpful comments.

#### References

- [1] Adegoke, K. (2021). Fibonacci series from power series. *Notes on Number Theory and Discrete Mathematics*, 27(3), 44–62.
- [2] Edwards, H. M. (1974). Riemann's Zeta Function, Academic Press.
- [3] Erdélyi, A., Magnus, W., Oberhettinger, F., & Tricomi, F. G. (1981). *Higher Transcendental Functions, Vol. 1*, Bateman manuscript project.
- [4] Frontczak, R. (2020). Infinite series involving Fibonacci numbers and the Riemann zeta function, *Notes on Number Theory and Discrete Mathematics* 26(2), 159–166.
- [5] Frontczak, R. (2020). Problem B-1267, *The Fibonacci Quarterly* 58(2), 179. Available online at: https://www.fq.math.ca/Problems/ElemProbMay2020.pdf
- [6] Frontczak, R. (2020). Problem H-859, *The Fibonacci Quarterly* 58(3), 281. Available online at: https://www.fq.math.ca/Problems/August2020AdvancedProblems.pdf
- [7] Frontczak, R., & Goy, T. (2021). General Infinite Series Evaluations Involving Fibonacci Numbers and the Riemann Zeta Function. *Matematychni Studii*, 55(2), 115–123.
- [8] Koshy, T. (2001). Fibonacci and Lucas Numbers with Applications, Wiley-Interscience.
- [9] Shannon, A. (2010). Gamma Variate Analysis of Insulin Kinetics in Type 2 Diabetes. *International Journal Bioautomation*, 14(4), 263–270.
- [10] Srivastava, H. M., & Choi, J. (2012). Zeta and q-Zeta Functions and Associated Series and Integrals, Elsevier Inc.
- [11] Vajda, S. (2008). Fibonacci and Lucas Numbers, and the Golden Section: Theory and Applications, Dover Press.